B STIH (5(35) -~ Hallu TapasaNe
£9. WO 63?8&362 eV300. (Answer in one sentence)

0. DIB.Y B SDemMeN Tt 2oRFJD WBredh?
0. DBY B SwdENeN Tedrt &3 wodFD.
9. ORI, 308 BUIY, S;BD STD JeeBTBH?

eV: 308 3D 30T B, F;FD STD FeeBTD.
8. 3,3 D3 Y wIBIO OIY, BoBDH?

U: ST DY wIBIY TB B0BD.

¥. &,8,0 BN Bert B FaSOTY?

QU: S,T0 BN VBB B FAVSOTDY

. 8@((3662 93¢ WBADD. (Write the word meaning)

36U = WONBY, Teome = SUNBY, &5,05 = W335, DWWD = WY DSV,

Q)E3oed = 238,
Q. ATW), DD @B NFO GVBDAD. (Answer in 2 to 3 sentences)
0. S,B,0r D% eA0B OFQ) E,TJ)?

&V: 5,3,0r &3, ¥ WedAoB wWesefees®, LTI, 0T WII, BB Jeore
3T

9. DT,Y BN, WIBNYW TeNTJ)?

gL: TP BNTY BWRBD), WIRNYY TS VTJ).

os. 3(3?5 RPETHRPRD. (Complete the Poem)
B oD

2oe30d) 209N



28 By DN

BOM Db
w3 O3
SIS 9GP BYNYO

. DI WBDID. (Write the plural form)

2967 = TINK) , SR = SARNK, awm = 6&137'1%{), 23e2)) = e3eny,
DTN = DTIANNR , 200G = RBIN, 2307 = 30BNRD

e). BRAQ WBAND. (Join and make meaningful words)

0. O + VOLD = AROED 9. V0L + VO = VOLIPOTD

8. DT + ) = DI, V. VR, *+ W), = AR
3. 3PN BRLN 0T Tew BANO. (Write the correct word)
0. L) - B 9. TRID) - WIWD &. VOAD - WD

Q. WO - 09N



